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1   Background
During RAN3#89 the following proposals with regards to enhance and optimize the X2 removal function as specified in REL12 have been discussed. 
· “Temporary X2 removal”

· “time to wait” before retry a removal
· OAM mismatch (“X2 REMOVAL REQUEST” causes)

· Benefit value

This contribution clarifies the question raised RAN3#89 in context of the proposed signalling of benefit values as introduced in section 2.1 in [4].

· Why is would the receiving node having the need to signal back it’s own benefit value? 
Respectively why isn’t the sender being able to calculate the benefit value of the receiver in advance?

2   Discussion
2.1   Rational for signalling of benefit values (Recap)
Usually the decision whether or not to remove an X2 interface is not a “digital” decision. Today the decision, which interface to be removed, is done humans, implicitly based on “the benefit” the interface is offering to the involved eNBs. 
Today, “the benefit” provided by a certain X2 interface is “estimated” by the operator staff. In particular operator staff need to:

a.)  
look up which features are configured in both eNodeBs  (HO relation, ICIC, MRO etc)

b.) need to check various statistics and usage data, in context of the configured features on both sides of the peer entities (think of a configured HO relation, but there hasn’t been any HO triggered at all)

Observation 1: Configured functionality and usage/utilization of feature need to be taken into account to derive whether a X2 interface can be removed or not

Further details on the rational for signalling of benefit values can be found in the companion contribution in R3-152207 based on [4]
2.2   Rational to signal the benefit value of the receiver 
With regards the question raised during RAN3#89 in context of section 2.1 in [4]. 

· Why is would the receiving node having the need to signal back it’s own benefit value? 
Respectively why isn’t the sender being able to calculate the benefit value of the receiver in advance?

Let’s assume a hierarchical cell deployment using interference coordination functionality relying on the class 2, Load Indication procedure.  (refer section 8.3.1 in [2])

a.) In this case both nodes are aware about the configured interference coordination functionality!
b.) eNB1 would send the ABS Information IE included in the LOAD INFORMATION message to the receiving eNB2, and the  receiving eNB2 may take the information into consideration when scheduling UEs

Form the sketched scenario above, it’s obvious, eNB1 could count and calculate statistics about the number of sent LOAD INFORMATION messages towards eNB2, however eNB1 can not have any knowledge about the number of UE’s being subject to benefit from ABS functionality at all underneath eNB2 coverage!

Observation 2: The benefit value of both eNBs might be different and need to be taken into account individually

3   Conclusion and proposals

It’s proposed to agree on CRs in [5], in context of X2 removal functionality based on benefit values. 
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